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/General Instructions to Candidates : \

® Thereis a ‘cool-off time’ of 15 minutes in addition to the writing time of 2 hrs.
® You are not allowed to write your answers nor to discuss anything with others
during the ‘cool-off time’.

® Use the ‘cool-off time’ to get familiar with questions and to plan your answers.

® Read questions carefully before answering.

® All questions are compulsory and only internal choice is allowed.

® When you select a question, all the sub-questions must be answered from the same
question itself.

® (alculations, figures and graphs should be shown in the answer sheet itself.

® Malayalam version of the questions is also provided.

® Give equations wherever necessary.

® Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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1. Which of the following is an element of publication design ?

(a) Typography (b) CMYK

(¢) Flexography (d) Folding (Score: 1)
2. The printing technology that is used in offset printing is . (Score : 1)
3. Explain the major operations in post-press stage of printing process. (Scores : 2)

4. The common text appearing on the top of every page is

(a) indent (b) ruler

(¢) header (d) page number (Score : 1)
5. Distinguish between landscape and portrait. (Scores : 2)
6.  What are the paragraph formatting features in LibreOffice Writer ? (Scores : 2)

7. How will you convert the following text directly to table ?
ID,ITEM,PRICE
1,item_1,23.00
2,item_2,54.00
3,item_3,12.00 (Scores : 3)

8.  Write the steps to create the Table of Contents entries. (Scores : 3)

9. The HTML tag that displays a piece of text or image scrolling in a web page is

(a) <Scroll> (b) <marquee>

(¢) <strong> (d) <HR> (Score: 1)
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@06y ®@aM5)BB01V @8 alsRflesauad design 63 LIS aB® ?

(a) Typography (b) CMYK
(¢) Flexography (d) Folding (ecapod : 1)
830000009 (a10dlo1@3 DaIc@IUI BN TVICHG RN} @Ryem.  (eapod : 1)

(afladlon” latoavquleel post-press QeI (IWIM ¢RI &HUB AlUdBAIBN .
ax post-p av }

(eapodav’: 2)
af)£J0 GalZ)dELljo MAEI@3 H0eM)aN common text @RYE.
(a) indent (b) ruler
(¢) header (d) page number (capod : 1)
Landscape-9o portrait-9o @2a{l£)8s a1y o af)am ? (capodav’: 2)
LibreOffice Writer-ae1 a1002a0 ¢an2d8m0glow features af)oamejoo ? (capodav’: 2)
®oey marlges Text eM@lg table-ceise convert a1QANO®EBOM ?
ID,ITEM,PRICE
1,item_1,23.00
2,item_2,54.00
3,item_3,12.00 (capodav’: 3)
Table of Contents entry @Qo0os)mM@IMSS Step-dUd af)$@))db. (capodav’: 3)

ealeni’ caledl@l text, image ag)avlal scroll 621 display eaigpan@lmss HTML tag

_ @nyem.
(a) <Scroll> (b) <marquee>
(¢) <strong> (d) <HR> (capod : 1)
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10. Explain the attributes in the <body> tag of HTML. (Scores : 3)

11. Write the HTML tag to display the image “abc.jpg” in 100 x 200 size with border.
(Scores : 2)

12.  Explain <Form> tag and <INPUT> types used in HTML forms. (Scores : 3)
OR

13. Create a web page to perform login operation and invokes the program login.jsp on

submission. (Score : 3)

14.  Write the <table> tag with caption for displaying the following table in a html page :

Health Statistics

Average

% Population
Height (cm) Weight (kg)

Male 169 75 47

Female 160 55 53
(Scores : 2)
15. Explain the syntax of style rule with an example. (Scores : 2)
16. What are the properties used to manipulate the display of text in CSS ? (Scores : 2)

17. An external style sheet page “abc.css” contains the following content :
P{
font-family:” Arial”;
font-style:italic;
color:blue;

}
Write a <LINK> tag to include the above CSS page in a web page. (Scores : 2)
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I1.

12.

13.

14.

15.

16.

17.
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HTML-ee1 <body> tag-e el attribute-£:03 Al Vo326 (capodav’: 3)

“abcjpg” apam image 100 x 200 aiena|ol@cd emIodawe0os)dnes display

e21Qanailmss HTML tag ag)9))d. (capodav’: 2)
HTML-ee1 <Form> tag-0o <INPUT> 66Sa|id8)0 Ql0dB2a086)dH. (capodav’: 3)
GREEIB103

Login 830a|c0au(3 Msol submit a1QemiIogd ‘login.jsp’ af)aM E@loWdo invoke

621930 HAINT GaleR BQYINIBN)B>. (capodav’: 3)

®o6Y ®maNIgss table 830) Halmi” Gall@3 caption CLadl®o display ©alQING@IMBs
<table> tag ag)¥® ).
Health Statistics

Average
% Population
Height (cm) Weight (kg)
Male 169 75 47
Female 160 55 53
(capodav’: 2)
Style rule-ea3 syntax 930a006mM MVadl®o AflUoBROE) . (capodav’: 2)

Text display 6a1QQ)anallWo @01 3:@1890MW CSS-@8 Dalcauilen)an property-a»ud

)M EJ00 ? (capodav’: 2)

“abc.css” ag)am external style sheet cal2fl@3 moay maMigss content Oene':
P{
font-family:” Arial”;
font-style:italic;
color:blue;

j
sD™ CSS iz’ 830) aaImi calgdl@d include ea1gm@lmss <LINK> tag af)91@)d:.

(capodav’: 2)
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18.

19.

20.

21.

22.

23.
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Explain the different types of web hosting.

What is the use of Content Management System ? Give an example.

The number of attributes in a relation is called

(a) Tuple
(b) Cardinality
(c) Degree

(d) Domain

What is DBMS ? What are the advantages of using DBMS ?

Explain the different operators in relational algebra.

OR

(Scores : 3)

(Scores : 2)

(Score : 1)

(Scores : 3)

(Scores : 4)

Consider the following table STUDENT and rewrite the given queries using relational

algebraic operators.

Table : STUDENT
Roll | Name | Mark
101 Arun 56
102 | Kiran 87
103 | Saran 48
(a) Select all whose Mark >50
(b) List Name, Mark of STUDENT
(¢) List Roll, Name whose Mark <50
6

(Score: 1)
(Score: 1)

(Scores : 2)
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19.

20.

21.
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aflaflwmeo Web hosting Gl@ia:63 aflvdBm060)6:. (capodav’: 3)

Content Management System-6/(3 a0 af)a® ? B0} DBIAOOEMo af)$}@)d.

(capodav’: 2)

830} relation e el attribute-®>@OS a)Po @M.

(a) Tuple

(b) Cardinality

(c) Degree

(d) Domain (eapod : 1)

DBMS ag)mo@d af)@® ? DBMS 9a1c@ouilenan@)ed0ae)Ss  (alCosmemsyd

af)OamEJd0 ? (capodav’: 3)

Relational algebra-a@lloer aflaflw 80a]c0gm@ud allvoBads9)d:. (capodav’: 4)
GREEIB]03

@oay manigss STUDENT table @oeslaunomassl earilgsss query-a»03 relational

algebra £30a]G0Q0)BHUB RalEWIUla] af)$)®)>.

Table : STUDENT

Roll | Name | Mark

101 Arun 56

102 | Kiran 87

103 Saran 48

(a) Select all whose Mark >50 (eapod : 1)
(b) List Name, Mark of STUDENT (eapod : 1)
(c) List Roll, Name whose Mark <50 (capodav’: 2)
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24. In MySQL, the command used to open a database is

(a) create

(c) open

25. What are constraints ? What are the different column constraints ?

26. Consider the table Salesperson and write the SQL statements for the following :

Table : Salesperson

(b) use

(d) show

ID | Name | Age | Salary
1 Abe 61 14000
2 Bob 34 | 44000
5 Chris 34 40000
7 Dan 41 52000
8 Ken 57 11500
11 Joe 38 38000

(a) List ID, NAME whose Age above 50 and Salary below 30000.

(b) List the details in descending order of Salary.

(¢) List all whose salary above 50000.

(d) Delete the details of Bob from the table.

OR

27. Explain create and insert SQL statements with an example.

7051

(Score: 1)

(Scores : 3)

(Scores : 4)

(Scores : 4)



24, MySQL-@3 80} cawgoesniay open ealganailmas command

(a) create

(c) open

(b) use

(d) show

_ @©yem.

(ecapod : 1)

25.  Constraints ag)ana@3 af)a ? afloflw®oo column constraint-éu3 af)oamE]d0 ?

(capodav’: 3)

26. Salesperson ag)am table @rSITuNIMASE] @6y ®aTigBsaiwes SQL statement-d>03

af) )N

Table : Salesperson

ID | Name | Age | Salary
1 Abe 61 14000
2 Bob 34 44000
5 Chris 34 40000
7 Dan 41 52000
8 Ken 57 11500
11 Joe 38 38000

(a) List ID, NAME whose Age above 50 and Salary below 30000.

(b) List the details in descending order of Salary.

(¢c) List all whose salary above S0000.

(d) Delete the details of Bob from the table.

(aras)%ee;l«sa

(capodav’: 4)

27. Create, insert ag)avil SQL statement-&»03 9302006 TVa0l®o ANlUVdBAIBN ).

7051
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28.  Which of the following is not a mobile communication service ?

(a) SMS (b) MMS
(c) GPS (d) Android (Score: 1)
29. What are the different categories of cyber crimes ? (Scores : 3)

30. Write short notes on :
(a) GPS
(b) Cyber Forensics

(¢) Copyright (Scores : 3)
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28. @0y ®a1iges0101@3 80) mobile &0 )eM1EHHaHD service @RLJOTMEO® ?

(a) SMS (b) MMS
(c) GPS (d) Android (ecapod : 1)
29.  aflallw ®eo cyber crime Al@IVEBUB )OI L]0 ? (capodav’: 3)

30. Short notes @QI0ILN) .
(a) GPS
(b) Cyber Forensics

(c) Copyright (capodav’: 3)
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